o
or=nl=
ETDIE E% ﬁa'lET
E= MY/H|IZ o|o| x|
oY
5 e N THE:
: \ r20|=.
) =0 opea);
ARH. ”HlAdEH TEAZ,
EAl:
olLo| E7|El S
EMHME:
1) 7tAZ]
=M
T~
- ()
L1
E=Z2 Q0o
g2l 2L 23R
FEHS D1 L L1 SW
K1104.141010 M10X1 5 8 14
K1104.171215 M12X1,5 6 8 17
K1104.171415 M14X1,5 6 8 17
K1104.221615 M16X1,5 7 10 22
K1104.221815 M18X1,5 7 10 22
K1104.242015 M20X1,5 7 10 24
K1104.19014 G1/4 7 10 19
K1104.22038 G3/8 7 10 22
K1104.27012 G1/2 8 10 27
K1104.34034 G3/4 8 10 34
K1104.40100 G1 8 14 40

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

1/2



[
UR0ls 2Y AR
ES 9%

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



